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Measurement of Length Word Problems
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1. The height of a tree is 12 meters, and its shadow is 9 meters long. What is the total length of the tree and
the shadow?

2. A rectangular field is 40 meters long and 30 meters wide. What is the area of the field? [Hint: Area of a
rectangle = (Length * Width) square units]

3. A piece of ribbon is 10 meters long. If you cut it into pieces, each 2 meters long, how many pieces will
you have?
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4. Sara walks 3 kilometers every day. How far will she walk in 5 days?
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